
3 4 5
ECS (ºC)

100

0

100

200

300
Pg

C
r2 = 0.03
r2
noIPSL = 0.20

(a)

1.
5

ºC
 w

ar
m

in
g 

le
ve

l

1.0 1.5 2.0 2.5
TCR (ºC)

100

0

100

200

300 r2 = 0.00
r2
noIPSL = 0.09

(b)

CESM2
EC-Earth
NASA-GISS

GFDL-ESM2M
GFDL-ESM4
IPSL

MIROC
MPI
NorESM2

Bern
UVic
HadCM3-FaIR2

1.0 1.5 2.0 2.5
TCRE (ºC EgC 1)

100

0

100

200

300 r2 = 0.00
r2
noIPSL = 0.08

(c)

1.0 1.5 2.0 2.5
TCRE-fe (ºC EgC 1)

100

0

100

200

300 r2 = 0.02
r2
noIPSL = 0.09

(d)

EB2026([2100 2150]) EB2026(2025)


